MATH 110 Calculator Competencies

Upon completion of MATH 110, students should have mastered all of the MATH 107 Calculator Competencies as well as the calculator skills that are listed below.  If you are unfamiliar with any of these skills by the end of the quarter, please contact your instructor.  These are REQUIRED skills, so it is important that you take them seriously!

1.   Solve polynomial equations.

2. Graph a square root and cube root function and determine the domain and range.

3. Compute expressions with rational exponents.

4. Solve a radical equation.

5. Solve a quadratic equation.

6. Solve an equation that is quadratic in form.

7. Solve a polynomial inequality.

8. Graph a quadratic function and find its vertex and intercepts.

SELF-TEST:   Use your calculator to answer all of the following questions.  Round to the nearest hundredth if necessary.
1.   Solve the following:   a)  
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2. Graph the following and determine the domain and range.

a)   
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b)   
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3.  Compute the following:   a)  
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b)   
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4.  Solve 
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5.   Solve the following:   a)  
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b)   
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6.  Solve 
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7. Solve 
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8. Graph 
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.  Find all intercepts and the vertex.

ANSWERS TO SELF-TEST

1.   a)   x = -2.6, 0, 2 
b) x = -5, -1, 1
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2.   a)   domain = [0, ()


 range = [3, ()
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b) domain = (-(, ()

 range = (-(, ()

3.   a)   8
b)   0.111111111  

(Note:  On the TI-82, you must enter the expression as (-27) ^ (1/3) ^ -2)

4.   x = 3.17

5.   a)   x = -0.14,  x = 7.14
b)   x = -6.32,  x = 0.32

6.   x = 0.125,  x = -8   

      (Note: On the TI-82, you must enter the expression as 2 x ^ (1/3) ^ 2 + …)

7. 
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8.   vertex = (-0.5, -14)

      y-int. = (0, -13)

      x-int. = (-2.37, 0) and (1.37, 0)
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